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FS rEmEiR Ra=E Eafy & (5T) ait
1 ASHEKEX 5 a 14.5 72.5
2 BHEDTHL 12 0 38 456
3 AR=Eay 4 & 19 76
4 4G HEE 6 a 22 132
5 [EfZ 5t 3 & 15 45
6 R 7 ) 75 52.5
7 PAZHE 3 i) 210 630
8 S)=kE 2 i) 180 360
9 prgES 80 0 25 200
10 1508 EITA 180 7N 2.8 504
11 BENEEEREER 8 E 169 1352
12 NS FE 12 a 24 288
13 R 12 =) 18 216

14 BHALSENE 4 (] 245 980
15 BIHREFE 60 a 12 720
16 EfER 120 PN 25 300
17 FTEDHASAR 20 it 38 760
18 2PN W 48 i 3.5 168
19 FFSSHh 50 3l 25 125
20 FF7SHb 50 R 25 125
21 IS KB 10 is 15.5 155
22 35MMESER 24 0 10.5 252
23 55MMRYESR 18 0 14.5 261
24 BYNESEFN 50 ¥ 3 150
25 KEEBHKR 30 0 12.5 375
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